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Above the Atmosphere and Under Control
Topic 6 pp. 399-402
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Rockets – Getting Up There (p. 399)
A rocket is a tube that contains a ______________________________.  One the other end is the __________________ which

 is the ____________________________. 
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Action/Reaction Principle
For every action, there is an opposite and equal reaction.

The products of the combustion (the exhaust) escapes

out of one end and the tube ______________________________________

______________________________________.

Rockets need a combustible fuel to make them fly.  What is EXHAUST VELOCITY? ___________________________________________________________________ ___________________________________________________________________

Why is this important when dealing with moving a rocket? _____________________

___________________________________________________________________

Which fuel has a higher exhaust velocity, liquid or solid?  _____________________
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Staged Rockets
Weight is one of the biggest factors in getting an object into outer space.  Robert Goddard, an American physics professor, realized that if a rocket had _____________________ (called a _______________________) – it would fly faster a higher. 

A stage is a ___________________________________.  

Afterwards, the stage is discarded and the remaining part of the rocket is ___________________ increasing it’s range.
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The V-2 Rocket
Developed by _________________ by a German scientist during World War 2.  He developed a ________________ which has a ___________________ for a payload.  

The V-2 had a range of about ______________ and is the basis of almost every rocket flown today.

After WW2, the race was on to put the first man into orbit.  Russia was the first country to do this successfully by getting their version of an astronaut, a ______________________ into space.

Computers – Making Adjustments (p. 400)
Without computers, the achievement of the last 40 years may not have happened.  Computers are used to _________________, _____________________________, _______________, ___________, and _________________________ and to  __________________________________________________________________.

Originally, computers would fill up entire rooms and were therefore too heavy for the rockets to use.  As they were made smaller, computers were put inside the spacecraft to control the space flight and to compare data with the ground computers.
Using Gravity (p. 402)
Rockets used today can blast spacecraft into Earth’s orbit, but we what can’t we do? _____________________________________________________________________
_____________________________________________________________________

What is the name of the process that uses the gravity of a planet to increase the acceleration of a spacecraft? _______________________________

This can be used to both increase the speed of an object AND to slow it down!
Explain how this works.

_______________________________________________________________________________________________________________________________________________________________________________________________________________
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